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Candidates should attempt any 10 (ten) questions of
GROUP—A with word limit of 250 words and should
attempt any S (five) questions from GROUP—B
with word limit of 300 words.

ae1R1gl19162 GROUP—A ) 696@1€d 0o g4a @aa 980 4R
CIRIEQ 99° GROUP—B q 6969161d 85 ggQ @
Moo §R FRIER AFE QYES |

GROUP—A

Discuss the role of biological membranes in living world.

P9 ROIPER 6T 67169R9 (membranes) SVAER UIERNISF KOG |

. Discuss different features of nucleosome model of chromosome.

15

15

6R16R16RINQ QUG BEAIN A6GR (nucleosome model) @ AR 6TFL VAR

2RISR 90 |

Mention the different functions of mitochondria and prove it as a

semiautonomous organelle.

15

AIRETIRG IR P8R QY FVCER RS KR IQ° 9217 IR 6ATAETIERINQ

86?#69%1 (semiautonomous organelle) @6 & @ |
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10.

What is the difference between polyteny and endoduplication? Write
note on polytene chromosome. 15

IRECE 99° Y6AIQYERYR. (polyteny and endoduplication) FIIEQ @&
Qld@? OR6ER 6RI6FIERIF (chromosome) RAUER 6RI6! 6RHF |

Mention the parallelism between gene and chromosomes. Is
cytoplasmic inheritance different to Mendelian inheritance? 15

@9, B 6216716919 (gene and chromosome) FIEQ AAIRS| @'€?
AR661596R (cytoplasmic) QEAINRIQ! 6F168R2IR (Mendelian) QEQINSIQ
0Iq @@ @?

What is transcription? Mention the steps of transcription in
prokaryotes.
15

GIR@C9R (transcription) @'€1? 69/QIQ6RG'Q (prokaryotes) 6Q GIR@UAR,
Q JQERd QO QRS Kag |

What is and inducible operon? Describe with example the regulation
mechanism of an inducible operon in prokaryotes. 15

AAGR6AAA (inducible operon) 2VERR '61? 6DIRIRBFLER IR ARLACAR,
2060 (inducible operon) & YUK IR @ ALQE A2 Q&I |

How is monogenic inheritance different from polygenic inheritance?
Describe the role of polygenes in human genetics. 15

EFIERIERRR ARRQRMIFIQ! (monogenic inheritance) JAERFR QAAKIQT
(polygenic inheritance) OIg @08 8Q7? FIFQ 696263 66 (human genetics)
IMEe@] (polygenes) @ Y2 9 Qdal @a |

What are molecular markers? How are PCR based markers are
different from Restriction Enzyme based markers? 15
ARAQAIR AIFR (molecular markers) @%@ @'€? PCR 2RIAQ AISQYER
go98a I9SIRF| (Enzyme) 2IRIAQ AINR 019 298 Q1 |

What is apomixis? Describe the role of apomixis in plant breeding.
15

2162I85g @47 2icfiay @ 98w @S gene 68g6a 240! @ag |
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11.

12.

13.

14.

15.

16.

17.

What is the difference between selectable marker and reporter
gene? How are both helpful to obtain transgenic plant? 15

demaccen (selectable) FIFQ 99° G6CICQ @R (reporter gene) FII6Q
QIR @€? QIPERRR, (transgenic) AL VRS AN AQG FAR AIRIAY
Q@7

Justify the statement that Agrobacterium is a natural plant genetic
engineer. 15

216gIYIQAAC (Agrobacterium) 6228 Y@ gIQ0R @8Q 696RT A@HAQ
(genetic engineer) 9@ 998 QIS AR *9g |

GROUP—B

What is Krebs Cycle? Justify the statement that Krebs cycle is an
amphibolic pathway. 20
659d @R (Krebs Cycle) @417 699 A0@m, (Krebs Cycle) 4R 2IF6ARR
digied (amphibolic pathway) 266 | Q€I |

What is tracer technique? How was Calvin cycle detected by using
tracer technique? 20

¢1da 66@8R (tracer technique) @67 QIAQ 66RFR LA FQ ARQRS
AIRRM (Calvin cycle) @R 26 6amI?

Describe the structure and mode of action of photoreceptors in
flowering. 20

IR g8alea 665164 (photoreceptor) SI0R 4Q° dRIIQ €S
@l

Explain briefly (i) Vernalization and (iij) Water stress. 20
A°6FAER IS @A (1) QR INERLR. (Vernalization) €Q° (i) @@ @19 (Water

stress)

What is the difference between autogenic succession and allogenic

succession? Describe in detail xerosere with suitable examples.
20

260160 ARAIYKRIQT (autogenic succession) 4Q° ZIENIERTR QEARIFIA!
(allogenic succession) 71269 IRy Q&7 QAYS AN20E PG 6RERIEAR
(xerosere)@ 990 @69 4R @09 |
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18. Explain briefly (i) Intellectual Property Right and (i) Red Data Book.| Candidate
20| mustnot
write on

Q6ATER QUISH GQ () ASEAAQA (Intellectual) WG LURIR I9° (i) 668 |y "0

@9l @@ (Red Data Book)
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